NPN

SILICON

HE13001

TRANSISTOR

KSE13001

4 100mm
D083AG-00-XX X
240+ 20um
830x 830pm’?
B 140x144uym E  180%140p m
TO-92
B T=25
Tstg—— -55~150
Ti—— 150
Pc—— 900mwW
Vcgo—— — 600V
Vceo—— — 400V
Veso—— — 9V
lc— DC 0.25A
B T=25
BVcEo — 400 V Ic=10mA, 18=0
BVceo — 600 v Ic=1mA, 1e=0
BVEBO — 9 V le=1mA 1c=0
IcBo — 100 M A | Vee=500V, I1e=0
leBo — 100 M A | Ves=9V, Ic=0
HFE 8 70 Vee=10V, I1c=20mA
VCE sat — 0.6 V 1c=100mA, 18=20mA
VBE sat — 1.2 Vv Ic=100mA, 18=20mA
T 8 MHz | Vce=10V  1c=20mA




	HFE
	VCE=10V, IC=20mA

